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4. Divid (47%() the square hexagon (IE/N#E ) of the area is 120 as shown in the

figure. What is the area of the shaded part(f282(57)? (A)32 (B)34 (C)36

(D)38 :
<fiEhr> N
120+-2+(5+6+4+9+6)=2 5 9
2x(9+9)=36 t 2
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7200+800=9
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6. There are a factors of 2023, the sum of all factors is b, and the sum of reciprocals (f2]%4) of all
factors is ¢, then SLASY (A)286 (B)287 (C)288 (D)289

actc
<fEAT>
2023 YAEA: 1~ 7~ 17 ~ 119 ~ 289 ~ 2023
1 1 1 1 1 1 2023+289+119+17+7+1 2456
s 1+7+17+119+289+2023= =t —t—F+—+—= =

ﬁ6{§& 1 7241576 119+289+2023=2456 1 7 17 119 289 2023 2023 2023
a=6 > b=2456 > c=——
b 2456 2023 | | 2023
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7. ARERHY 42 oT 0 FEEH 30 JTEE 36 iRIERL R - R ERYRERELAI T EC R - RIAREE
FRHRTR? (A)21 (B)15(0)24 (D)12

<fEAT>

42:30=7:5

36+-(7+5)x7=21

BEA -

8. 51 9x (14— ) x (1+52) x (1 55) xox (155)=2 (A)14 (B)1I5 (O)16 (D)17
<>

4 9 16 25 36 49 64 2x2 3x3 4x4 5x5 6x6 Tx7  8x8 2x8 .
OX X=X —=X—=X=X—=X—=0OX —X—X—X—X—X—X—=09x—=]16 75 C o
3 8 15 24 35 48 63 1x3  2x4  3x5 4x6 5x7 6x8 7x9 9
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50-5=45

28+30-45=13

28-13=15
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B T AR 5:15=2:2=89

PEREE E - PR R

P& EE=9:89 100+(9-8)=100

HRER=900

11X 900 = 1200(/4 )
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255024=2x2x2x2x3x3xTx11x23=21x22x23x24

21+22+23+24=90

4. Nine small squares (IF /57%) with side length (32%) is 20 are put together \\
to form (%) a large square grid(/54%). What is the sum area of the two \ \

shaded part in the figure? (1=3.14) \
<ftf> \ |
EEENLG - HORIIOINZELE - HIFHE - N
R RO EIONZE (T « BIFHEIE - \\
SERE TR £ RIY N
(1)20x3=60 > 60x60=3600 \

(2)60%60x3.14x-=2826
3600-2826=774
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HHE > B/ IV EEE INHL o (1 AHA=100 *ET5A R I
<fii>
106-2x3=100
90-2x5=80

MEIfE=100x80=8000 3 J7/\ K'=80 /\#i4
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6. It is known that 053000 500

then the sum of the two three-digit numbers filled in the

circle =
<fh>
Ll =10 ab=2023
2023 a b ab
2023 (YERIEE 1~ 7~ 17 ~ 119 ~ 289 ~ 2023 » H b-a=10
A b=17 » a=7
17 7 1 1

L=~ 5289+119=408
2023 2023 119 289

7. EF: W a ' b=b:c HVED TRy ac ELHITIE - 40 12 2=2 1 4> A2 72 1 M4 AL

FlFIE - FRIEE 7 B 2023 ARG TE By °
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7 =]1:2023

L[ 1=2023x7=17x7x17x7x

[ =17x7=119

8. 100 il AHER—Fa » 7&/NHBAAANRN B # % 1 1283 ESIeTE s UG
[FERR T - R N —HalEE ﬁBJﬁL%I_J*E—iﬁﬁﬁn,\/J\%Zﬁaﬁ(iﬁ?ﬁﬁ’\]*%)ﬁ_/\ °

<fihir>

100+3=33

2~5~8~11~14~17~20~23~26~29~32-~35~38~41-44-~47-~50~53~56~59~62~65~68~
71 ~74~77~80~83~86~89~92-~95~098

33+3=11
2~11~20~29~38~47~56~65~74~83~92
11+3=3

2~29~ 56 ~ 83—mie—fiI & 29

29-1-1=27
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ALERTR - B FRIERT £ 5 [0777E - B — R TR T PR A2 A —HEEK:
®?§%—{I BT 240EK > SUBAVRTRE 4K
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<fEtT>

EEE 4 FFET
BEg | 1234|516 |....0....191100
BEfO | 4L | B | &k | 4L | B | %% &k | 4L

3 {E—{EEE - 100+-3=33.....1
41 Bk=33+1=34 55
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2. WlE - FE A RS - Z7¢ B PgEFHEE 0 10 38R 0 NIE B g HEs > -
Z A 20 381 AHME - EAIFRIVEE i 40 AR > Z0EE REHE S0 AR
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<t .

(40+50)x20=1800 A

(1800-40x10)=(40+60)=14

10+14-20=4

by e

<S5 >
ABHYFEHE=(40+50)x20=1800

FH 20 434878 40x20=800

79 10 43487 60x10=600
(1800-800-600)=(60+40)=400+100=4
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